3 July 2018 individual task in calculus: 
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s is your student number. k = s mod 10000. T = s mod 100. m = s mod 35. a = s mod 25. 
L = s mod 10. . e = s mod 8. m7 = s mod 7. m6 = s mod 6. m5 = s mod 5. m4 = s mod 4. 
m3 = s mod 3. m2 = s mod 2. u = s + 10000.


Solve the linear and non-linear real projectile problems for A = T degrees, V = T, R = 1/T. 

Linear:
x'' + Rx' = 0
y'' + Ry' = -g

Non-linear:
x'' + R(x')2 = 0
y'' + R(y')2 = -g

g = 10

x(t)
y(t)
t = time

x(0) = 0
x'(0) = Vcos(A)

y(0) = 0
y'(0) = Vsin(A)
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